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Sn/HCI

2)NONO/HCI
CuCUHCl
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Calculate Number of stereoisomers of CH; - — G~ CHs
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Weight of the organic compound is 180 g and the weight of the AgCI precipitated

143.5 g. Calculate the estimationofClin__ _ _ ___ __ _ %
wtof Cl=355g
Wt of Ag =180 g. Jou= 35S W a o
2 wo <]
= a5.§
— — _x!MdxT s 100
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Statement - | : CHg ? CHog - CI WI|| shthc substitution by SNI1 mechanism in
protic medium M,
Statement — Il : CHg - e.—CH2 Cl will undergo nucleophilic substitution via SN2

mechanism easy

'
S\; “ov X

Statement- | and statement —Il both are correct

Statement- | and statement =l both are incorrect

Statement- | is correct but statement —ll is incorre

@®O@®®

Statement- | is incorrect but statement —ll is correct
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Which of the following acid is present in

Saccharic acid
Aspartic acid

Adipic acid

Ascorbic ci:V

@O@®®
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MP« C-LE
Identify the incorrect statement -

O

MP of Cis 2 butene is greater than tran 2-butene.

-
: 2-methyl 2-butene can have two geometrical isomer % C'

DP moment of cis 2 butene is greater than trans 2 butene \ |Z

In trans isomer identical groups are opposite direction

'DIM:t() Dm
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-y e SE . Al A4
TotoA V0. 017 comk. gives positive test with Ao P \d X

CHO J- X
O OF M@;

o)

|

C - CH, — C=0 \/
C @X : (CIZH-OH)3
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*CO0H -
@‘CIH ~TH = CH - TH,

IUPAC Name ?

4—methoxycorbon}g-methylpentqopic acid

3-methoxycorboxly}p-methylpentqnpic acid

5-methoxycorbow}ﬂ-methylpenteupic acid

@@O@%

2-methoxyccrbox\?&-methylpentqopic acid
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. . . B
Find the dimensions of —

Ho
(&) AL

[AL-"]
(€) [MAL]
O

[MALT-1]
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Solid sphere of mass M, radius R exerts force F on a point mass. Now a concentric
spherical mass M/7 is removed. what is new force ?

(R) F/7

6F /7
(€) sE/7
()

3F/7
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Assertion: When YDSE set up is dipped in a denser medium than the fringe width

decreases.
Reason: Speed of light decreases in denser medium but frequency of light remains

Sae.

025
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Find the radius of curvature of the common surface of two bubbles (R, > R,)
_ R4Ry
@ = Ry +R;
_ 2R4R;
i = Ri—R>
_ RiR3
@ R = R:~R5
_ R4Ry
@ R = Ri-Ry
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An electron in the group state of the hydrogen atom has the orbit, radius of 5.0 x 10-10

m while that for the electron in third excited state is 8.48 x 10_10 m. The radio of the
de-Broglie wavelength is electron om the ground state to that in the excited state is:

®
®
©
®
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Find current in the circuit, Jockey is at middle point on 1{}

L
J

0.9
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Statement I- In a vernier callipers, one vernier scale division is smaller than one main
scale division.

Statement II- The vernier constant is given by one main scale division multiplied by
the number of vernier scale divisions.

025

@ Statement | is true and Statement Il is false.

Statement 1 is false and Statement Il is true.

Both the statements are false.

@ Both the statements are true.
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Identify the correct graph between the resistivity of conductor and temperature

® LA

4
O \ ) J
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From a sphere of mass M and radius R, a cavity of radius R/2 is created. Find the
moment of inertia about an axis passing through the centre of sphere.
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A bob of mass m is suspended at a point '‘O' by a light string of length 'I' and left to
perform vertical motion (circular) as shown in figure. Initially by applying horizontal
velocity V,, at the point 'A’, the string becomes slack when the bob reaches at the point
'D". The ratio of the K.E of the bob at the points B and C is

025

2

60"

ONORONO
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A Parallel plate capacitor of capacitance 40 pF is connected to a 100 V power supply
now the intermediate space between the plates is filled with a dielectric material of
dielectric constant K = 2. So due to the introduction dielectric the extra charge and the
change in electrostatic energy in the capacitor respectively is:

@ 2mcand0.4]
2 mcand 0.2 ]

@ 4 mcand 0.2 ]
@ 8 mcand 2]

025
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Identify the diode connected in forward bias

@ 2v~—{>}—~ 4V

-3V v—{>}—o-1v
rm—‘ - I 5\
—IO\'O—D|-—‘ 1DV

ORORO
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What amount of heat is required to convert 1 gm of ice at -10°C into steam at 110°C?

@ AQ =730 cal

AQ = 1100 cal
@ AQ =930 cal
(®)

AQ =900 cal
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Statement I- When non - ideal batteries are connected in parallel then the resultant emf
is lesser than either of the battery

Statement II- When non - ideal batteries are connected in parallel then the resultant
resistance of their internal resistance is smaller than either of the resistance

@ [ true, Il false
[ false, Il true

@ Both true
@ Both false

025



LIVE
sTream SEEMAIN 2025 PAPER DISCUSSION

In the diagram given below, the value of coefficients of thermal conductivity, K, = 60,
K, =120 W/mC(, K; = 135 W/mC. The temperature at the left most end is 100 °C and
right most end is 0 °C find the temperature 6.

@ 40°C e 0 0°C

60 K,
45°C 1 K | ~——+135

®
@ L 120 K,
O

025

60°C
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A 5-letter word is to be made using any distinct 5 alphabets such that middle
alphabet is M and letters should be in increasing order.
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x—1 e et X+2 -3 Z41.
The shortest distance between the lines - .  andZ=E = =g

3 4 7 8 2
® =
V1277
78
V1277
© =
V1277
OF=
V1277
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Two balls are selected at random one by one without replacement from the bag
containing 4 white and 6 black balls. If the probability that the first selected ball is

black given that the second selected is also black, is m/n when gcd(m, n) = 1, then
m+n="7?
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IfSn - ;}20 T, = (2n—- l)(2n+1)(2n+3)(2n+5) thaii find Z
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If ydx + (—;— ~ x) dy = 0 and x(1) = 1 then find x (%)
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¢

—-3ax‘ -2 x<1
Irfx] =4
(x) | a‘+bx x21

by f(x) and line y = -20 is @ + V3 then find a + £.

given f(x) is continuous 4 differentiate. Area enclosed
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e5(nx)*+3 — +8 product of all real values of x.
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If Abe a3 x 3 square matrix such that det(A) = -2. If det (3adj(-6adj(3A))) = 2n x
3m, where m = n, then 3m + 2n is equal to
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Let the triangle PQR be the image of the triangle with vertices (1, 3), (3, 1) (2, 4) in
the line x + 2y = 2. If the centroid APQR is the point (a,f) then 15(a — f) is

equation
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If A={1, 2, 3}, find the number of non empty equivalence relation on set A

@4
OE

O
® -
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A coin tossed three times. Let x denote number of times tail follows a head. If
1 and o4 denote the mean and variance of x the value of 64(u + o4).
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f(x) = 7(tanx)® + 7(tanx)® — 3(tanx)* — 3(tan®x)

Iy = ff(x)dx, [, fxf(x)dx
71,+121,
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Let f(x) be a real differentiable function such that f(0) =1 and
fFOf'(Y)+ f(y)f'(x) forall x,y € R. Then %12 log,. f(n) =
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The Foci of hyperbola are (1, 14) and (1, -12) and passes through the point (1, 6)
then its latus rectum is
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5

§ HCry1 M
= —, d ) — 1'
217 + 2 n 5¢ (771 n)

n=1

m-n=?
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A=1123,....,10}

m
B = {; m>nm,n € A, gedimn) = 1}

Then no. of elementsin B =7

2 |
33

29

OO@®® ;

28
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If f(x) = 16(sec™'x)? + (cosec™'x)? then the max. and min. value of f(x) is
respectively,

@ 100112 dZth
33 © a
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[f8 =3 +i(3 +p) + 412(3 + p?)+..., then the value of p is

ONONONO
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2
Area outside the parabola and inside the circle (x — 2v3) + y? = 12 and
parabola y? = 2+/3x.
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Coefficient of x*°1 in the expansion of (1 - x)4"%8 (1 + x + x4)2007

OK
OF

©
(D) 3
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Compare boiling point of given solutions
(i) 1074 M NaC
(ii 103 M NaC
(
(

i) 1072M NaC
iv) 1074 M Urea

20> 00> 1V

m>1>1>I\V

H>1> 0>V

CRORORO

H>1>10>1V
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CO,(g) + c(s) = 2c0(g)
If initial pressure of CO, is 0.6 atm and after equilibrium is established, total pressure is
0.8 atm. Then, find Kp.

(®) oa
0
©) os
@ 0.8
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Radius of electron in ground state for hydrogen is a,, then radius of electron in He* ion

a
in 3'd excited stateis a. Then— is:

a
@ 1/2
o 1/4

®
@ 1/16
®

1/8

025
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If a work function of Cs and Fris 1.9 and 2.5 eV . If light of h = 500 nanometre which
element will show photoelectric effect.
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Qmpare boiling point of given solutions
- M@ )\
i 7 /)/le = @ ( b @

1073 M NaCl

(iiy 1072M NacCl
@ '9‘_‘1M rea
@ >0 1> IV
m>n>|>|v
@ > 1> 10>V
@ N>1> 0>V
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CO,(g) + C(s) = 2C0O(g)

If initial pressure of CO, is 0.6 atm and after equilibrium is established, total pressure is
0.8 atm.Then, find K,.

=0l (()'\AJ:O.L’

, COy (R = V N
() oa (1) b Hrn k( g&
0.2 E 06 = ‘O 2
@® os | 0 f - o)
0.6 : OM
y Oh-F +42 108
@ 08 6 r = (O'\/()Z_
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Radius of electron in ground state for hydrogen is a,, then radius of electron in He* ion
a
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in 3'd excited state is a. Then — is:
. a
V\:L\ LlL
(®) 12 o= ) = 4 L= 8a,
5 2
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4 AN 24
If a work function o@nd@1 .9 and @ev . If light of/hx= 500 nanometre which

element will show photoelectric effect.

\14 0

s by A S-S el O
\Y; 6 0 b l’\g ﬁ\/

/
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oY
A 5-letter word is to be made using any distinct 5 alphabets such that middle alphabet

is M and letters should be in increasing order.

025

M o —
R e
C'L 'BCL
\ 2
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=1 Y=g z—1 X¥re Y-z Z+1].

The shortest distance between the lines — and - IS
2 3 4 vi 8 ,
i — N ~ A f T —
@ 88 D1 X b = C ) I dwim: (ar-a)) . (Bf xb2)
=2 2 e ——
\/1277 [ b, X b‘z,l
'/~_-V—» n F 1% Ll |
5 — _s, - Cé‘gl)’]@-?‘?:]-rl([lg-‘z\)
V1277 BHixb, = ~ Al

—
@ i N\(‘_ -3 -\
i ~ 18-~ - 3R
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Two balls are selected at random one by one without replacement from the bag
containing 4 white and 6 black balls. If the probability that the first selected ball is
black given that the second selected is also black, is m/n when gcd(m, n) =1, then

m———

m A P(AM) = ff/p%i/sr




STREAM JEE MAIN 2025 PAPER DISCUSSION

ey
If y2dx + (% — x) dy = 0 and x(1) = 1 then find x (%)
b L4 = =)-'/~.,O(‘J:M
aldi + L _w=0 d
d \/ t
Lac*&_%: > s
da i) ’lﬁn__ bl S L ¢
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e5(Inx)*+3 — +8| product of all real values of x.
s+ g etz % ot frc = !
€ =l %14
A= e 8’Y L= €
/@n hoth Sides
a + |
<§(ﬂr*)+3) - be w C’))/g- Cl e 6?& - e_%/g
’C\X = 't
Sl 2= %t
St @t43=0
S'kl- St1-343=p
(S{-*s) (t-1)=0

t:“,,s‘l
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lfSn . T - _|(2n- 1)(2n+16)l(12n+3)(2n+5) then fmd Z
| fr\—wo )
/r = SY\‘ SY\-!
(2 V\-l)(ZV\+|)(2n+’>)(2V\+S’) Czh 33( 2AN-4LYiC 2 Nt\) ¢ Lined)
gEaRR AT

=2

(‘zV\ l)(2v\+\)(27\+3) E’? +S) — le\ 33}
- 15 t(zn ) (2V\+\)<ZV\+‘3;)

Ty~ \\
(QY-')(lm)(zr 13)
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’rY "f(Zy \)(2V+I)(ZY+’b)
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. gyl a7!)
If f(x) = 3?1 B 2 i ; i given f(x) is continuous and differentiable.
. a X >

Area enclosed by f(x) and line y = -20 is @ + /3 then find a + £.

(/30\-—2 = 03-1'{) Az2 2 b--1> o= =-6
\/\/"'/ -
v
| F—GO\"L A
%(’K)-_ ~
—i6s . 2
_b ¥ oo - X
U)-“-Go\
—Jna-2 = QQ‘ So
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STREAM - / <
-6~ 2=-20 | J\(‘b{f’_ (_2o))oQ->a+ > VX
— 6= - |8 -J=
1(7-: ?>

W= —J3

)

L(- 2% = - 20.

l"+2b-. 12 W
2= 12X
K= 2
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If Abe a3 x 3 square matrix such that|det(A) = -2/ If det(3adj(-6adj(3A))) = 2m*n 3mn
where m > n the n. Find 4m + 3n.

W e | 2 0y (-6 ady 200

m+n=10 l%*q:%-}/

JEE MAIN 2025 PAPER DISCUSSION

-1

=M ‘
i 30&£j 6x’3> a%h)
m=7] ‘
N=1H 2653 of
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Let the triangle PQR be the image of the triangle with vertices (1, 3), (3,1) (2, 4) in
the line x + 2y = 2. If the centroid APQR is the point (a,f) then 15(a — fB) is

equation x-2 _ Y- %> At 16 2% | 4[ 6/5) %/2;)" [2’?)/5]
— 2R ¥
2 X\ m
X2 = Ol (7'%%»)
A= . Y%l _ — \6 a
“% fi e
Y IS
Mi-—'} \\]-%/SZ‘Q—
g T K IS ,
-2z B J= To-e
3 il
KL g %, \J? =51
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If A={1, 2, 3}, find the number of non empty equivalence relation on set A

@ 3 .{(\,‘)(2;1)(77/”}
y .(LH(’L,’Z)(??)%)(';”') @y
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. Qg = O
a,,a,..., a, are in G.P. A=
a,as = 28 o= 29 ]
Gy a,=25 TR0 oxas
3 n=
Find a, = + 4 d”@ UL:Q%]
It i Q¢ = oy
<+ g 29) as 8
XB=2% .6 V=
LSRN 1% @)
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STREAM 2 %ol 213
ng/

Let f(x) be a real differentiable function such that f(0)=1a
' / | 100
FOOf' @) + fO)f'(x) forall x, y € R. Then £32% log. f(n) = f= o) o4 £h)

FOEE 25005 ) + S0y Foo
=0

) R 'z_{—(o)

5—1(0): Vo
§ (0 = Fexy $0) + T©) Fo

(3= S-mi;(o)-kg\&b yow Jo‘*

T (%) L * gape LX”‘W ”‘/z_

X)-\' ‘s(x
Foo o
== 700

—
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STREAM ©. * 2
The Foci of hyperbola are (1, 14) and (1, -12) and passes through the point (1, 6)
AT

then its latus rectum is - i

28€= 9% P(lzé)
[oRz sl ‘Pp_p;ﬂ_}z 2a
\e: rb/S_J =8 ,PF, - 19
/Ql: o;'-(e"-_l) ’%-|%\__.2q‘

LK: zl}/o\ IO =9 0. :)q_-s_
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5 m '2_’ L
E :“sz m v P e
= — ocd(m =
2r + 2 n god(m-n) T 7
—{ ; \’L
% /‘ C2Y+L
m-n=? \’)/
9L—,0

\ 2 |2 \
| (1—\' (\‘-\- 1(6—\- I'z(
=2 \2

Ly 7 12 3 \

|2 [ (oi (L+ (\,\4. = = ke l(\m- |l<°
L[y i T
— 2 & |
12
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A de the parabola and inside the circle (x — 2v3)” £ y2 = 12 i
rea outside the parabola and inside the circle x—/*by = 12 an

parabola y% = 2v/3x. (6 )

(1—2{5)2+ 2 {BW = 2L

v 2 -+ 23w = L

M?—-_ 2 (—5\'\

= b X'—"-('B | N
2>

4"‘&: é\( RA- _ 5 B?JX

s’
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If f(x) = 16((sec™1x)? + (cosec™x)?) then the sum of max. and min. value of

f(x) is LA ch\-&é (o,r])
WC(vO\mm - 6 [(’V‘O—t /‘1>] Cored » ¢ [_7\/2,x/.,_]

3 f q= |6[©"‘; x/z_e)"]
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f(x) = 7(tanx)® + 7(tanx)® — 3(tanx)* — 3(tan®x)
I, = Jf(x)dx, I?_:fo(x)dx f(ﬂ = ?tmé"\ (;t“‘z_’(* ‘.) g [ Tt t]
71+121, T 8 j J):(‘K) i Sec~ [_:IL b — %Bf}w]

-

L- S\ <7Hmf —’519&1> Seclxoqx

PR T 8-
Sé-t TRARR L L 4D :QtQMX)q:.Q\o,\X)S
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Circle lie in the second quadrant with radius 2 and touching both coordinate
areas. Another circle with centres (2, 6) exactly intersect the first circle at two
points then range of it's radius is (a, b) then find (a + b).

‘\(I"YL‘< CiCqa = % ¥=2 @
<, ¢2,2)

}1?_"2-‘ < t1\“.2 < 2 A )\1_ (‘7_ [2 6}
\/—\/J o ~—~ ’
A A N IS S TR o

7 242 &4 L/'\v.)‘(ﬁ_{J 0= Y pt b= W41

Yy M
h
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A coin tossed three times. Let x denote number of times tall follows a head. If
u and o¢ denote the mean gngd varlan{:&q x,the vqlue of 64(u + o‘)

H HH O \/q, O O (X\)
HRT 4 Vq '/% ¥
o | €0 ul BE Sl |2
H’TH l \/% \/% 3 &= = \1/6 - ('/2)1
TTH O \/% o > "
O 7, -
THE NS | &Y
ot |l R
% /?: \
71 1 1L <
Theo |3 | X
Y/S: ‘/’L_
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—{123 Sj YY\,‘.-?); 7L:-|)7—=-
- 2, Y\—__|
™= |

Then no. of elementsinB=7? ’: >
m l ’ % ;?-, 6
3\% e lO -
45+
33

s G- gk A el
il S
29 Y= 7} Y= 1T A b\) g/

28 N=6¢ m-<=\,S
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Find the dimensions ofp— =1
0

® iy
B
[AL1] i

() [MAL]
(o)

[MALT-1]
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Find the radius of curvature of the common surface of two bubbles (R, > R,)

® rotn 1o tunes
R{+R, R,
R=2R1R2 v
© k=Rt
>
® n- o

(Rl R2)
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An electron in the group state of the hydrogen atom has the orbit, radius of 5.0 x 10

m while that for the electron in third excited state is 8.48 x 10"10 m. The radio of the
de-Broglie wavelength is electron om the ground state to that in the excited state is:

025

-10

A: L\ M\?z
@ n=4 (M7 gxcrled) D=4 /\4 mV, h
9 =
' &= ¥a - Mg
3 i N4 X g

““‘-\Tb'l_

0¢ “
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Find current in the circuit, Jockey is at middle point on 1{}

L | Ml e /
o J D*aAV
1
| l/g_ yz
—— ——— W\ 2~ W——
®7_ 'RcK't =2 1
e 1w A S ==
I;év_;ﬁlm Req = AL - A e S
R ¢ SOy ~ > — 1>
= | L% ) R,
‘ . 1D
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Assertion: When YDSE set up is dipped in a denser medium than the fringe width
decreases. , _
Reason: Speed of light decreases in denser medium but frequency of light remains

Sane. &ourcv er:eM‘ej{ '

M5
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Statement I- In a vernier callipers, one vernier scale division is smaller than one main
scale division, @

Statement ll The vernier constant is given by one main scale division multiplied by
the number of vernier scale évnslons | .S = IMsSD —IVeD.

025

@ Statement | is true and Statement Il is false.

Statement 1 is false and Statement Il is true.

Both the statements are false.

@ Both the statements are true.
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Identify the correct graph between the resistivity ofnd temperature

R—R, [1+xoT]

() \ f= 1 [r<6B)

® Qoﬁo\udo‘c' y | J "

¢

CowdudkoY - Veu b
T R® i rﬁ
R=R(1txaT+ J

R=R,(|+xaT |

\
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disc/.
From a sphere of mass M and radius R, a cavity of radius R/2 is created. Find the

moment of inertia about an axis passing through the centre of sphere.
J Srheve.-

I_Avu, == TbiaachPWYC Tl —-Smﬂerc)»heye

Common- axfs .

| 30@ 6]

=

P\\'&mwo\ o g 4{ (&5 | dis< ke Caye Maemn -

;y(f @ xmmc\ KR) R&)#ﬂj_
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i ?Ta\w{ajcfon |

M7

M Nl
s Mp=M - M- &M
E = G Frea=l
i P C\(Cﬂ)m g o
=
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A bob of mass m is suspended at a point 'O' by a light string of length 'I' and left to
perform vertical motion (circular) as shown in figure. Initially by applying horizontal
velocity V,, at the point 'A’, the string becomes @ the bob reaches at the point

'D". The ratio of the K.E of the bob at the points B and

M5

2 KEy ---\/‘Vs . Va . %-%L\-@&)
% KE ¢ -é,mv(l V.- Sj’l- 13&(\- Coy
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A Parallel plate capacitor of capacitance 40 pF is connected to a 100 V power supply
now the intermediate space between the plates is filled with a dielectric material of
dielectric constant K = 2. So due to the introduction dielectric the extra charge and the
change in electrostatic energy in the capacitor respectively is:

_“401111 @ ahnew & ‘,’Z’O\ll.
(A) 2mcand0.4) CrotRc|  Ag= O

v : -6
' — ‘[‘D\k\b X 0O
11—
2mcand 0.2] “ AL puEy

OoV
? L v 2
: 2 O] E ~ l
%4 mc and 0.2 ] \= g‘ ) )&W | BiEg S % aClCBV

=RE
@ 8 mcand 2 | At= ) o

025
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Identify the diode connected in forward bias

| SV,
PR Sy FE
| | \,P-VN: A-G¢ =—-2 @
. N
-3\"~—[>}—~-1v <R E =2 | W
PN
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What amount of heat is required to convert 1 gm of ice at -10°C into steam at 110°C?

@ AQ =730 cal @T—i ﬁj \-> OmSwAT i %%&

lgm wﬁ" P V«\»oral-
. AQ =1100 cal _loc e ’C \::. ( o
* - peS Cd
@ AQ =930 cal Si = 028 “am B-ms, AT
Sw= <l
@ AQ =900 cal Im®c gggg ¥
; Ra C
3“\ VQ‘MY oo
Ly= 3t C\GD \yc -

o
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Statement [- When @\deal b@are connected in parallel then the resultant emf
is lesser than either of the battery C Neta Wecasmeny Cond Hion {L

Statement II- When non - ideal batteries are connected in parallel then the resultant
resistance of their internal resistance is small%than either of the resistance

@ [ true, Il false ‘——M'_WZ \

4 Y el

£ e
[ false, I true
= 1——-{[‘!————-% Ee“' ) |

2y WL
Yag~ vl | PN

319
@ Both false |

2425
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2425

£= YA

In the diagram given below, the value of coefficients of thermal conductivity, K, = 60,
K, =120 W/mC, K; = 135 W/mC. The temperature at the left most end is 100 °C and
rightmost end is 0 °C find the temperature 6.

o
45°C
() ssec
(D) 60°C

Q“J Joun cion =0 000 (? @
B-loo + B- lw+8 O 60 K,
Gj\i (120) 120 K,

651(6-\0&-\ \1)6(6-\505-\ 9&?8 P

\ 600
\26_% \20p &iwqb
Lt § \® o & -3

o

4350
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find the net flux through the cube.

@ q/6%,
@/ q/4¢€,
@ q/8¢
O

Cbmd; ""’q;"

€o

Y
s - T

025
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025

Q=
Two spherical black bodies of radius 0.8 m and 0.2 m are at temperatures of 400 K and
800 K respectively. Find ratio of rate of heat loss. dﬂ . (eAT ‘1'.
fabo AR A 2 4
@ Q R T (ooo £
Y= 0% U=022 _d_g 4‘1}7’T7_of 27 8\
4ook R ook Ok l2
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A particle is projected with velocity 60 m/s at an angle 30° with respect to horizontal. It
reaches height h, in 15* second and height h, in last second during its motion. Find the
ratio of h, /h,

025
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A closed organ pipe of length 10 cm is in ?_‘h harmonic resonates with 4™ harmonic of
open organ pipe. Find the length of open organ pipe.

(A) Lo=15cm < 0><0

*—L = o em

025

o 100
‘ LO—Tcm
qvb: 1.1)'
@/ L, —@cm
i %@%%
@ 110 o FIRE T
Lo—Tcm
Li:z\\L:%i.

] 1
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Compare boiling point of given solutions
(i) 1074 M NaC
(ii 102 M NaC
(i) 1072M NaC
(iv) 1074 M Urea

@ 1> 0> 0> 1V
m>1>1>I\Vv
@ H>1>10 >V
@ H>1>101>1V
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CO,(g) + c(s) = 2c0(g)
If initial pressure of CO, is 0.6 atm and after equilibrium is established, total pressure is
0.8 atm. Then, find Kp.

) o4
0
©) os
(®) os
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Radius of electron in ground state for hydrogen is a,, then radius of electron in He* ion

a
in 3'd excited stateis a. Then— is:

a
@ 1/2
o 1/4

®
@
®

1/8

025
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At 25°C a thermally insulated closed vessel containing liquid is stirred mechanically

@ AU>0 q<0 wu>0
AU=0 q>0 wu»>0
@ AU=0 q=0 u=0
@ AU>0 g=0 u«<o0
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Which of the following is not true?

@ Decay constant does not depends on temperature

Decay constantincreases with temperature

@ b=
©

K

None of these
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Electrolysis of which compound gi

|

@ Electrolysis of conc.Na,SO, o

Electrolysis of dil. Na,SO, 1 : lé

\ |
Electrolysis of conc.H,SO, o &' o
@ / *( ||

Electrolysis of dil. H,SO,
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No. of linear compounds ? I

.-, NO,~, O, OF,, NO,*, BeCl,, N,~, SO g =p
J X ><3 T gy B ;
"
I O O:K):::-o
%Wl 4 S +
| i N=iN=nN
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Which of the following has maximum size out of Al**, Mg?*,F~, Na* ?

®

1G4
o



[
~§\.‘

a B
B TSR ".
Fo_%
‘,.’ N ?‘ L4
L la ~'

'y
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For [NiCl, |2~ what is the charge on metal and shape of complex respectively?

@ @letrahedrol Vi it : 34 d (yfg)
— e
L \
+2, square planar
< \!
B CYER,
@ +4, Tetrahedral
I — HLO NH3 =t O
( : ) +4, square planar Tc(
) |
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The correct decreasing order of electronegativity is

@ F>CI>Br>|

CI>F>Br> |

@ F<Cl<Br«|

r>~k>1>Cl
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Which of the following lanthanide ion o@leotrons in the outer most shell?

@ Eu*3 D e — §
, JPREEES o
D™l 5
2+ LY .
@ 3 yd Rl f7 | 9
@ Gd2+ 14) L“3+~9fr*f
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Which of the following electronegativity order rrect?

@ Mg <Be<B<N
Al <Si<C <N.
@ S<CI<O<F
Al<Mg<B<N
@ sogon,
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M
Which of the following has %= O.Eﬁ,

(B) wlrelen)]  F2" (A7) SEL

Ks[Fe(SCN)g] \
@ Ks[Fe(NH;)s]
@ K,|Fe(NH;)Br]

T FQ+3 <°(§)
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Element not showing variable oxidation state

®

Br

n

@ Cl
O
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NO,

(i) Sn/HCI "
_—

(2) NaNO,/HCI

(

3) CuCIl/HCI

(4) Na/Dry ether
Molecular weight of ‘A" = ?
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Calculate Number of stereoisomers of CH; = CH = CH — CH — CH,

|
OH
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Weight of the organic compound is 180 g and the weight of the AgCI precipitated
143.5 g. Calculate the estimation of Cl in %

wtof CIl =355¢g
Wt of Ag =180 g.
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Statement - | : CH3 — O — CHg — Cl will show nucleophilic substitution by SNI mechanism in
protic medium

H . - o .
Statement — Il : CH3 - qcf -3CH2 — Cl will undergo nucleophilic substitution via SN2
mechanism easy |

CHa

3
L.

Statement- | and statement —Il both are correct

Statement- | and statement =l both are incorrect

Statement- | is correct but statement —ll is incorrect

@®O@®®

Statement- | is incorrect but statement —ll is correct
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Which of the following acid is present in Vitamin C?

Saccharic acid
Aspartic acid

Adipic acid

@O@®®

Ascorbic acid
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Identify the incorrect statement

MP of Cis 2 butene is greater than tran 2-butene.
2-methyl 2-butene can have two geometrical isomer

DP moment of cis 2 butene is greater than trans 2 butene

@O@®®

In trans isomer identical groups are opposite direction
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Which of the following gives positive test with Fehling’s solution?

@ @,\CHO @/CHO
@ @/g-% @ (EH:-OOH)s
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COOH  COOCH.

I I
CH3—CH—CH=CH_CH3

IUPAC Name ?

4-methoxycarboxy-2-methylpentanoic acid
3-methoxycarboxy-2-methylpentanoic acid

5-methoxycarboxy-2-methylpentanoic acid

@O@®®

2-methoxycarboxy-3-methylpentanoic acid
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. . . B
Find the dimensions of —

Ho
(&) AL

[AL-"]
(€) [MAL]
O

[MALT-1]
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Assertion: When YDSE set up is dipped in a denser medium than the fringe width

decreases.
Reason: Speed of light decreases in denser medium but frequency of light remains

Sae.

025
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Find the radius of curvature of the common surface of two bubbles (R, > R,)
_ R4Ry
@ = Ry +R;
_ 2R4R;
i = Ri—R>
_ RiR3
@ R = R:~R5
_ R4Ry
@ R = Ri-Ry
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An electron in the group state of the hydrogen atom has the orbit, radius of 5.0 x 10-10

m while that for the electron in third excited state is 8.48 x 10_10 m. The radio of the
de-Broglie wavelength is electron om the ground state to that in the excited state is:

®
®
©
®

16
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Find current in the circuit, Jockey is at middle point on 1{}

L
J

0.9
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Statement I- In a vernier callipers, one vernier scale division is smaller than one main
scale division.

Statement II- The vernier constant is given by one main scale division multiplied by
the number of vernier scale divisions.

025

@ Statement | is true and Statement Il is false.

Statement 1 is false and Statement Il is true.

Both the statements are false.

@ Both the statements are true.
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Identify the correct graph between the resistivity of conductor and temperature

® LA

4
O \ ) J
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From a sphere of mass M and radius R, a cavity of radius R/2 is created. Find the
moment of inertia about an axis passing through the centre of sphere.
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A bob of mass m is suspended at a point '‘O' by a light string of length 'I' and left to
perform vertical motion (circular) as shown in figure. Initially by applying horizontal
velocity V,, at the point 'A’, the string becomes slack when the bob reaches at the point
'D". The ratio of the K.E of the bob at the points B and C is

025

2

60"

ONORONO
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A Parallel plate capacitor of capacitance 40 pF is connected to a 100 V power supply
now the intermediate space between the plates is filled with a dielectric material of
dielectric constant K = 2. So due to the introduction dielectric the extra charge and the
change in electrostatic energy in the capacitor respectively is:

@ 2mcand0.4]
2 mcand 0.2 ]

@ 4 mcand 0.2 ]
@ 8 mcand 2]

025
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Identify the diode connected in forward bias

@ 2v~—{>}—~ 4V

-3V v—{>}—o-1v
rm—‘ - I 5\
—IO\'O—D|-—‘ 1DV

ORORO
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What amount of heat is required to convert 1 gm of ice at -10°C into steam at 110°C?

@ AQ =730 cal

AQ = 1100 cal
@ AQ =930 cal
(®)

AQ =900 cal
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Statement I- When non - ideal batteries are connected in parallel then the resultant emf
is lesser than either of the battery

Statement II- When non - ideal batteries are connected in parallel then the resultant
resistance of their internal resistance is smaller than either of the resistance

@ [ true, Il false
[ false, Il true

@ Both true
@ Both false

025



LIVE
sTream SEEMAIN 2025 PAPER DISCUSSION

In the diagram given below, the value of coefficients of thermal conductivity, K, = 60,
K, =120 W/mC, K; = 135 W/mC. The temperature at the left most end is 100 °C and
rightmost end is 0 °C find the temperature 6.

@ 40°C e 0 0°C

60 K,
45°C 1 K | ~——+135

®
@ L 120 K,
O

025

60°C
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A charge of value q is placed at the edge of a imaginary cube of side a as shown in figure.
find the net flux through the cube.

(::) q/6¢,

q/4¢€,
<::> q/8¢,
O

q/2¢,
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Two spherical black bodies of radius 0.8 m and 0.2 m are at temperatures of 400 K and
800 K respectively. Find ratio of rate of heat loss.
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A solid sphere of uniform density and radius R exerts a gravitational force of attraction
F, on the particle P, distant 2R from the centre of the sphere. A spherical cavity of
radius R/3 is now formed in the sphere as shown in figure. The sphere with cavity now
applies a gravitational force F, on the same particle P. Find the ratio F, / F,.

ONE
Y
@ 11/12
@ 3/4

025
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A particle is projected with velocity 60 m/s at an angle 30° with respect to horizontal. It
reaches height h, in 15t second and height h, in last second during its motion. Find the
ratio of h, /h,
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A closed organ pipe of length 10 cm is in 9™ harmonic resonates with 4" harmonic of
open organ pipe. Find the length of open organ pipe.

@ LO =150cm
100
o ="y B

80
©) L=Fem
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A 5-letter word is to be made using any distinct 5 alphabets such that middle
alphabet is M and letters should be in increasing order.
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x—1 e et X+2 -3 Z41.
The shortest distance between the lines - .  andZ=E = =g

3 4 7 8 2
® =
V1277
78
V1277
© =
V1277
OF=
V1277
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Two balls are selected at random one by one without replacement from the bag
containing 4 white and 6 black balls. If the probability that the first selected ball is

black given that the second selected is also black, is m/n when gcd(m, n) = 1, then
m+n="7?
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IfSn - ;}20 T, = (2n—- l)(2n+1)(2n+3)(2n+5) thaii find Z
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If ydx + (—;— ~ x) dy = 0 and x(1) = 1 then find x (%)
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¢

—-3ax‘ -2 x<1
Irfx] =4
(x) | a‘+bx x21

by f(x) and line y = -20 is @ + V3 then find a + £.

given f(x) is continuous 4 differentiate. Area enclosed
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e5(nx)*+3 — +8 product of all real values of x.
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[f A be a3 x 3square matrix such that det(A) = -2. If det(3adj(-6adj(3A))) = 2m+n 3mn
where m > n the n. Find 4m + 3n.
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Let the triangle PQR be the image of the triangle with vertices (1, 3), (3, 1) (2, 4) in
the line x + 2y = 2. If the centroid APQR is the point (a,f) then 15(a — f) is

equation
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If A={1, 2, 3}, find the number of non empty equivalence relation on set A

@4
OE

O
® -
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A coin tossed three times. Let x denote number of times tail follows a head. If
1 and o4 denote the mean and variance of x the value of 64(u + o4).
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Find a, =7
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f(x) = 7(tanx)® + 7(tanx)® — 3(tanx)* — 3(tan®x)

Iy = ff(x)dx, [, fxf(x)dx
71,+121,
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Let f(x) be a real differentiable function such that f(0) =1 and
fFOf'(Y)+ f(y)f'(x) forall x,y € R. Then %12 log,. f(n) =
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The Foci of hyperbola are (1, 14) and (1, -12) and passes through the point (1, 6)
then its latus rectum is
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5

§ HCry1 M
= —, d ) — 1'
217 + 2 n 5¢ (771 n)

n=1

m-n=?
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A=1123,....,10}

m
B = {; m>nm,n € A, gedimn) = 1}

Then no. of elementsin B =7

2 |
33

29

OO@®® ;

28
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If f(x) = 16(sec™'x)? + (cosec™'x)? then the max. and min. value of f(x) is
respectively,

@ 100112 dZth
33 © a
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[f8 =3 +i(3 +p) + 412(3 + p?)+..., then the value of p is

ONONONO
N~
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2
Area outside the parabola and inside the circle (x — 2v3) + y? = 12 and
parabola y? = 2+/3x.
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